How to work with Fabric Frames

Assembly instructions

Frame construction

Accessories
Fabric information %W%IH‘EM
SF-Door & EL-Doors SIAN nEx®




system-standex.dk %’W@U E

How to work with Fabric Frames SIANDEN

Table of contents:

Assembly of SF-44-1, SF-44-2, SF-44-2-C, SF-44-4, SF-44-6, SF-44-9, SF-44-85, SF-44-120 frames.........ccccceeveuenene 3
ASSEMDIY Of SF-44-5 fram@S.....cccueiiiiieeieeeeeee ettt sttt s e st s e s bt e te s st e b e saee s st e sesmeebeessesneessesmeessesnsenns 4
ASSEMDIY Of SF-44-7, SF-44-8 fram@S....c..cooiiiiriiiiiiiiiiictiieetet ettt ettt a st ae bbb san e aesnesan s 5
ASSEMDIY Of SF-44-T0 FramEs...cuceueiiiiiiiiierieterteteetest ettt sttt st et st s b s ae st e b st e s bt e bessaesbesaesseebesmaesseennesnnen 6
AssemMbBIly Of SF-36-2 frames........ccouciviiiiiiiiii e 7
ASSEMDIY OFf SF-44-2A framIES.....cotiiiiiiiiiiiiiietetttet ettt ettt e ae st sb e e sb e bt e sa e st ae b e s bt e bt sane st esnesnnes 8
Assembly of SF-44-100, SF-44-150-2 fram@s......ccceeruertrrerierieeieniteseeeese et este st ee st e stesstesbeeeesmeessesseesseessesmeessesnnessean 9
Assembly of SF-44-120-2, SF-44-150 frames.......ccceeviiriiiiriiiiiiiiictce ettt snesae s 10
ASSEMDIY O BLF framMIES...ccueiiiiiieiiiieeteeteteterte ettt sttt st et b e s be e s st e b saesmeesnesmnenes 1
Assembly Of MOAUIAT FrAMIES......co.iiuiiiieee ettt a s a e ae b e s aesae s s nens 12
ASSEMDIY Of SF-44-44-2 framMES.....ccociiiiiriiiiiiiniiiitetercterc ettt ettt e b e b st e b e st e ae s b e s bt e bt ssnesatesnesnnes 13
ASSEMDIY Of SF-44-44-4 fram@s.....cccueeiiiiierieierteeeteet ettt sttt st sttt e ee st et e st e s bt et esme e bessaesbeenbesmaesseenaessean 14
FramE CONSTIUCTION ... ettt et st s et e st e s bt e st e s st e sate s st e saee e e st e saseeenee s st e saeesntesaseseneesaseenneenans 15-17
ASSEMDIY O SF-44-0OO0T......ciiiiiiiiiiiiiiieteetet ettt sttt b e st a st be s b e st s bessa e bt ssnesneesnesnnes 18
Assembly of EL-DOOR-T and EL-DOOR =2......couiiiiiiiiieienteeeieettetesite ettt saeessesste st s ee s st esse s e e sbesbesaeessesmeesnean 19
AsSEMDBIY Of EL-DOOR-3....coiiiiiiiiiititettte ettt et sa s b st bbb e sab e bt e b e en e ne 20
TV DFACKET. ...ttt bbb bbb bbb bbb 21
ASSEMDIY OF SF-44-H....ciiiiiiiiiiiiii e 22
WAl DFACKELS......coviiiiiiiiiiiiii e e b bbb et 23
SOOI DASES ...ttt e et ettt s b aeneaes 24-26
o [OOSR 27

(o]l oY =R T al oY n g T 11 1o] o TR TRRR 28



system-standex.dk

How to work with Fabric Frames

Valid for profiles:

3

0 18
. g —4 _— = —4 7 v% 4 _J L —4
K X g = K
—— —— S m—
= - - ] -
SF-44-1 SF-44-2 SF-44-2-C SF-44-4* SF-44-6 SF-44.9%*
85 iJ "_ 120 —i *
& . * can be manufactured with 20W LED Strips and light panels
——
d ** can be manufactured with 5 or 12mm panels in the back
SF-44-85%*%* SF-44-120%** **% can be manufactured with 5x3W and 3x3W LED modules
Assembly instructions:
144-2-AG/2xM6 1105-15
Connector Profile connector (180°)
@ /9 /@ /@ /9 /9
.—J—/—ﬂ ————— ® e © |——— o o ° ———l e © . £
° 1201-S
Divided internal
support rail
1105-15
Profile connector
(180°)
f /Q /@ /@ /9 /9 o
A e~ I o ¢ o |———|ﬁ|———| ¢ @ o
144-2-AG/2xM6 1105-15 1201-S

Connector

Accessories:

Connector

144-2-AG/2xM6

(=SSN

SF-HANDLE#

Profile connector (180°) Internal support rail

Profile connector (180°) Internal support rail

/S

/s

1105-15

1201-S

#cannot be used for SF-44-2-C, SF-44-6, SF-44-85 and SF-44-120




system-standex.dk @W@U E

How to work with Fabric Frames SIANDEN

Valid for profiles:

Assembly instructions:

1105-18 SF-44-15-200
Connector Profile connector (180°)

/ / / /
/ / / /
/ / / /

3 x5 T

© ’@
,,,,, -
X

LED-Panel

'Q@ PPPP
,,,,, - asye
1105-18 SF-44-15-200
Connector Profile connector (180°)
Accessories:

Profile connector (180°)

1105-18 SF-44-15-200




system-standex.dk

How to work with Fabric Frames

Valid for profiles:

s —
[
SF-44-7 SF-44-8

Assembly instructions:

ook
SIANDEX'

1105-18 SF-44-15-200
Connector Profile connector (180°)
// S,
el - R === c/ a/ ./ e/ |
! / 1 L —
¢ o
1201-S
Divided internal
support rail
1105-15
Profile connector
(180°)
@ pppp
/ / / (o)
& / /S S/ —
———- lozer -———, ]——— ===
1105-18 SF-44-15-200 1201-S .
Connector Profile connector (180°) Internal support rail
Accessories:

Connector

Profile connector (180°)

SF-44-15-200

Internal support rail

//

1201-S




system-standex.dk

How to work with Fabric Frames

Valid for profiles:

44

o
Lf[ 11;7

SF-44-10

Assembly instructions:

ook
SIANDEX'

2 x1105-18 2 x SF-44-15-200
Connector Profile connector (180°)
@// //@ //@ //@ //@
N @ - i T —
[
1201-S
Divided internal
support rail
1105-15
Profile connector
(180°)
/ / / / o
/ / / / | |
77777 E - N T |
1105-25 2 x SF-44-15-200 1201-S
Connector Profile connector (180°) Internal support rail
Accessories:

Top connector

Bottom connector

I/C'g@ﬁl

1105-25

Profile connector (180°)

SF-44-15-200

Internal support rail

1201-S

w/ special screws: PC44-5-SF10



system-standex.dk

How to work with Fabric Frames

Valid for profiles:

36

Assembly instructions:

ook
SIANDEX'

136-2-AG/2xM6 1105-36
Connector Profile connector (180°)
@ ’@ /@ /9 /9 /@
AR A N - .
) E‘-‘i U o ¢ |Tle® __® 98l 4 o — o
1201-S
Divided internal
support rail
1105-15
Profile connector
(180°)
o e pp e |
/I S - s R S — = N
136-2-AG/2xM6 1105-36 1201-S
Connector Profile connector (180°) Internal support rail
Accessories:
—Handie [l Profile connector (150°) [l internal support rai
{.T.~N / /
ﬁ 2 b
s
136-2-AG/2xM6 EL-HANDLE 1105-36 1201-S




system-standex.dk

How to work with Fabric Frames

Valid for profiles:

- .44 4
=

|
|

SF-44-2A

Assembly instructions:

144-2A-SF - Venstre
Connector

1105-15-handle
Profile connector (180°)

ook
SIANDEN'

144-2A-SF - Hojre
Connector

| ==

b

WS-27-2A-S
Internal support rail

] I

[

144-2A-SF - Venstre
Connector

Accessories:

144-2A-SF - Venstre

144-2A-SF - Hajre

1105-15-handle
Profile connector (180°)

1105-15-handle

Profile connector (180°) il _Internal support rail

144-2A-SF - Hojre
Connector

4

WS-27-2A-S




system-standex.dk gi’wg%']_r E

How to work with Fabric Frames SIANDEN

Valid for profiles:

30

l—].LJTJ—;% O.—I—LJ..LJTLJ_:-.%

SF-44-100* SF-44-150-2*
Mounting of RC36-5 in SF-44-150-2
*can be fitted with 110-230V 6x3W LED modules placed between LED-modules

! — T  m——

yi
¥

Mounting of 1201-S in SF-44-100
placed in back side

Sk S

Assembly instructions:

2 x 1105-25 1105-26 + 1105-28
Connector Profile connector (180°)

_— F S - = L
F 1201-S
Divided internal
support rail
1105-15
Profile connector
(180°)
1105-26 + 1105-28 1201-S
2 x 1105-25 Profile connector (180°) Internal support rail
Connector
Accessories:
Profile connector (180°) Internal support rail Internal support rail
o
7 ) S~ Q¢ W)
B CEIN Ty
@7 /. ;
1105-25 1105-26 + 1105-28 1201-S RC36-5 + 1105-32
Only for SF-44-100 Only for SF-44-150-2



system-standex.dk %’W@U E

How to work with Fabric Frames SIANDEN

Valid for profiles:

120 ‘ 150

i - c )
SF-44-120-2* SF-44-150*
Mounting of WS-27-S in SF-44-150
*can be fitted with 5x3W and 3x3W LED modules placed between LED-modules

Mounting of WS-27-S in SF-44-120-2

. . laced between LED-modules
Assembly instructions: i

2 x1105-25 2 x 1105-26
Connector Profile connector (180°)

- @% S - .

U**.
L - -
J E ,,,,; . N
2 x 1105-26 WS-27-S
2 x1105-25 Profile connector (180°) Internal support rail
Connector
Accessories:

Profile connector (180°) Internal support rail

1105-25 1105-26 WS-27-S

C] "o ")

10



system-standex.dk @W@U E

How to work with Fabric Frames SIANDEX

Valid for profiles:

—N T
i A
BLF-68 BLF-L

Assembly instructions:

110518 SF-44-15-200
Connector Profile connector (180°)
® P /@ /@ /@ /@

4
/
———— rﬁﬁ ] ——-

(oo o o o 60 o 6 o 1]

3mm Back panel (oo 60 o 0 6 6 6 ]

(oo o o o 60 o 6 o 1]

BLF-68
Profile

< pppp
o E:Eé’**** 1 // // // // 777I
1105-18 SF-44-15-200
Connector Profile connector (180°)
BLF-L
Profile

Accessories:

Profile connector (180°)

1105-18 SF-44-15-200




12

system-standex.dk @W@U E

How to work with Fabric Frames SIANDEX

Valid for profiles:

68 36 32
[ — 1 —
¥ ¥ ¥
[FFFFw DFF T
SF-44-68-2 SF-36-1 SF-32-EP
Top & bottom profile Side profile Extensions profile

3mm Back panel

SF-36-1
Side profile

SF-36-1
Side profile
SF-32-EP
Extensions
profile

SF-44-68-2
Bottom profile

SF-32-EP
Extensions profile

Assembly instructions:

SF-36-1 + SF-32-EP SF-32-EP SF-36-1 + SF-32-EP
Side profile + extensions profile Extensions profile 110528 Side profile + extensions profile
1105-25 SF-44-68-2 Profile connector (180°) SF-44-68-2
Connector Top profile e Top profile
[T oo o o0 0 o 0 6 06 1] [T oo 0o 0 60 0 6 0 06 1]
SF-36-1
Side profile
[0 0 0 0 0 0 60 0 0 © 1] [0 0 0 0 0 0 0 0 0 o ]
LED-Bar
B N M O N O M O M O I O M o N o o [ (e o 0 6 60 0 60 6 60 ©® 1]
3mm Back panel
oo o0 0o 60 o 6 6 6 1] oo 6o o 60 60 6 60 6 1]
(e o o 6 60 6 60 6 6 1] (e o 6 6 6 6 6 o 1]
1105-25 SF-44-68-2 —_—— e SF-44-68-2
Connector Bottom profile 1105-28 Bottom profile
Profile connector (180°)
Accessories:

Profile connector (180°) Hook bracket Hook bracket

1105-25 1105-28 Haegtebeslag Venstre Haegtebeslag Hajre




system-standex.dk

How to work with Fabric Frames

Valid for profiles:

44

e——

44

SF-44-44-2
SF-44-44-2

Assembly instructions:

<

Example:

SlfSfIE

SIANDEN'

1105-15
Profile connector (180°)
/@ /© /@ /© /@
m———[o ¢ o | [ o o -[¢ o °
[e]
1201-S
Divided internal
support rail
1105-15
Profile connector
(180°)
/@ /@ /@ /@ /@ °
1105-15 1201-S

Accessories:

Profile connector (180°) Internal support rail

Profile connector (180°)

1105-15

/S
1201-S

T

Internal support rail

13



system-standex.dk gi’wg%']_r E

How to work with Fabric Frames

SIANDEN'

Valid for profiles: Example:

/

SF-44-44-4

Assembly instructions:

1105-15
Profile connector (180°)
o e PP
1] ———[o ® o ‘——— ® ® ———l ® e o
[e]
1201-S
Divided internal
support rail
1105-15
Profile connector
(180°)
k2 P ee |,
/ / / / /
1105-15 1201-S
Profile connector (180°) Internal support rail
Accessories:

Profile connector (180°) Internal support rail

1105-15 1201-S

14



system-standex.dk

Frame construction

SF-44-1

SF-44-2

SlfSfIE

SIANDEN'

SF-44-2-C

Fabric Fabric Fabric Fabric Fabric
SF-44-4 QRN VAY SF-44-5 QR JRVAY SF-44-6
LED r 7777777 LED
Fabric Fabric Fabric
8mm 8mm
Acryl Panel Acryl Panel
2mm 2mm
PVC Panel PVC Panel
SF-44-7 SF-44-8 SF-44-9
Fabric Fabric Fabric Fabric
5mm Panel
SF-44-10 p«eliiy)[e SF-44-2A SF-36-2
I
L ]
Fabric / i Fabric Fabric Fabric Fabric Fabric
Acousti
Panel

15



16

system-standex.dk

Frame construction

BLF-68 QNEapHpZAY

LED-Bar

ook
SIANDEN'

SF-44-68-2 QN30 pZRY

LED-Bar

Graphic Panel Fabric
6mm Panel Fabric 6mm Panel Fabric
(D”ftk'sef‘) LED-Module
optional
P \/,
Reflector
LED-Module
SF-44-120 QEIAYVZAY
Blockout
Fabric Fabric Fabric Fabric

W\ /L

LED-Module

Single sided

Double sided

SF-44-120-2 QE2vHPZRY

Diffuser (optional) Diffuser (optional)

Fabric Fabric

I \ /.,

LED-Module

Double sided




system-standex.dk

Frame construction

SF-44-150 QR3pRpZRY

Diffuser (optional) Diffuser (optional)

Fabric

I I \ /.
LED-Module

Fabric

Double sided

ook
SIANDEN'

SF-44-150-2 RNy (1EVE{RY

Fabric LED-Module Fabric
N\ /L

Reflector Reflector

Double sided

17



system-standex.dk

SF-44-DOOR

The door can be used as left or right hinged

Top frame included

ook
SIANDEN'

940
o
)
<
Sliding nut
o
S| o™
0| N~
N| o
I3Y
Handle ®
with lock
Door Catch Sliding
nut
Sliding nuts —
\ Door Frame
step
925
Door catch Door step Hinge

SF-44-DOOR fabric size:

1 x Door fabric W.925 x H.2073mm
1 x Top frame fabric W.940 x H.400mm

18



system-standex.dk gi’wg%']_r

EL-DOOR-1 & EL-DOOR-2 SIANDEX

The door can be used as left or right hinged

992
— — 1]
| |
‘ Q ‘ o
e . 9
| © 8 ©@ I[Z:l
Door | 5 S o i]
catch Sl Iif
€3 ‘
IS B | il 8
| 0 [[. :H‘ -
(T
‘ 0 |‘w
(@] 11
(o)) Il
| 11
i
| |
1!
|
!
I [oe)
‘ I‘J <
! [Te)
il t
| 1
Magnet ‘ I“‘
il
I
|

I 7
—=—"'1 1 o=
Divided T‘
here
Handle ‘
|

548
i
pa—0))

100

350

wheel

[0z ‘
= Swivel upright
Mount the support wheel as shown

EL-DOOR-1 fabric size: EL-DOOR-2 fabric size:

1 x Fabric W.992 x H.1958mm 1 x Top fabric W.992 x H.995mm
1 x Bottom fabric W.992 x H.963mm

963

|

7“
Handle to attach |
\

37

RC44-8-2000

E

19



system-standex.dk @W@U E
EL-DOOR-3 SIANDEX'

The door can be used as left or right hinged

992

355

Door
catch

5mm clearance
over door

995
—1
———————-—=—F
100

548

Magnet r-

= Il
Divided here T
I
Handle I
I
| {o]
[e0]
N~
»
| o
T H -
r‘ Handle to attach o
wheel i o o
F= ' .
- —
S Swivel upright
RC44-8-2000
i
e =Y
‘w\\/ Magnet-foot-2
.V Mount the support to stop panels

wheel as shown sliding down

EL-DOOR-3 graphic size:
1 x Top panel W.992 x H.995mm
1 x Bottom panel W.992 x H.978mm



Frame Height

system-standex.dk

TV bracket

Valid for profiles:

30 44
ngpna i |
j
w »
SF-44-1 SF-44-2

Assembly instructions:

Frame Width

ook
SIANDEN'

- TV Bracket

Vesa 100/200/300/400

21



22

system-standex.dk

How to work with Fabric Frames

Valid for profiles:

Assembly instructions:

ook
SIANDEN'

\\\\

.. \\\\

5//////// % /;//

E




system-standex.dk

Wall brackets

SF-44-3-15x40

ook
SIANDEN'

Fits to: SF-44-1, SF-44-4, SF-44-6 & SF-44-7 Mounting:
SF-44-3-8x40
Fits to: SF-44-5, SF-44-10, SF-44-68-2, SF-36-1, SF-44-100 Mounting: —
& BLF-68 =
7

SF-44-4-30x60 ,
Fits to: SF-44-2, SF-44-2-C & SF-36-2 Mounting:

E. /
SF-44-85-40-13 ,
Fits to: SF-44-85, SF-44-100 Mounting:

T

_

23



24

system-standex.dk

Steel bases

WSF-SFS 250x100x5mm
Fits to: SF-44-1, SF-44-2, SF-44-4, SF-44-9, SF-44-10 & SF-36-2

Included:
2 pcs. Screw : M6x12
2 pcs. Sliding nut: GDS-711-M6

SfofIE

SIANDEN'

Mounting:

WSF-SFS-2 500x100x5mm
Fits to: SF-44-1, SF-44-2, SF-44-4, SF-44-9, SF-44-10 & SF-36-2

Included:
2 pcs. Screw : M6x12
2 pcs. Sliding nut : GDS-711-M6

Mounting:

WSF-SFS-3 500x100x5mm
Fits to: SF-44-85, SF-44-120

Included:
2 pcs. Screw: M6x30
1 pcs. Insert: SP12-30-100/G4xM6

Mounting:

WSF-SFS-4 500x100x5mm
Fits to: SF-44-100, SF-44-120-2, SF-44-150 & SF-44-150-2

Included:
2 pcs. Screw: M6x16
2 pcs. Insert: SF711-120-150

Mounting:

WSF-SFS-5 250x100x5mm
Fits to: SF-44-85, SF-44-120

Included:
2 pcs. Screw : M6x30
1 pcs. Insert : SP12-30-100/G4xM6

Mounting:




system-standex.dk %’W@U E
Steel bases SIANDEX

WSF-SFS-6 484x100x5mm Mounting:
Fits to: SF-44-85, SF-44-120

i g Included:
A } i 4 pcs. Screw : M6x30
[ EE g 1 pcs. Insert : SP12-30-100/G4xM6

WSF-SFS-7 250x100x5mm
Fits to: SF-44-120-2 & SF-44-150

Included:
2 pcs. Screw: M6x16
2 pcs. Insert: SF711-120-150

WSF-Handle 500x80x5mm Mounting:
Fits to: SF-44-1, SF-44-2, SF-44-2A, SF-44-4, SF-44-9 & SF-36-2 @ i

WSF-Frame @340x5mm
Fits to: SF-44-1, SF-44-2, SF-44-4, SF-44-9, SF-44-10 & SF-36-2

| Included:
2 pcs. Screw : M6x12
2 pcs. Sliding nut: GDS-711-M6

WSF-SFS-10 335x335x15mm - weight: 10 kg. Mounting:
Fits to: SF-44-1, SF-44-4, SF-44,6, SF-44-7, SF-44-9, SF-44-85 & SF-44-100 @

Support
profile

Included:
2 pcs. Handle: GDS-HANDLE

25



system-standex.dk

SIS
Steel bases SIANDEX

WSF-SFS-11 500x100x5mm

Mounting:
Fits to: SF-44-1, SF-44-2, SF-44-2A, SF-44-4, SF-44-9 & SF-36-2

©O) -

1 ncluded: —

2 pcs. Screw : M6x12
2 pcs. Sliding nut: GDS-711-M6

26



system-standex.dk

Fabric

Technical info:

ook
SIANDEN'

Width Silicone profile 1105—17
Fabric width < 2000 = width + 22 17
Fabric width > 2000 = width + 11
PVC Profil = width — 12
TS LTIl T
/ ////////////////////////////
7 R ’
A AN NI I N —
A s
L0 0000000 500000 ++ ~
0070700070077 =
A AN AN A AN A A -
A A A <<
7000000000000 e
A A AT A DD
700050050000000,505007 v
L0000 0000000000 <<
///////////////////////// % stich here
A A4 5
70050000000000000000 0000 slee
70000 0000000000055007 a5 G
AN T ) )
///////////////////////////////////////////////////// QR & 205gr flame resistant fabric
700705000000500000000 VA O
A A A A A% s
0000000 5007000000007 e
0000000000000500 00000 €
A A A A A A oo
/////////////////////// 22
70000000000000000000 0000 |22
0000000 00000000000000
T 0000000000
////////////////////////// 7 SRS
0000000000050 5005700 0 556
77 7777 0.0
Printfiles:
Smartframe:
Graphic dimensions = external
dimensions of the frame

Fitting the fabric:

YES

NO

Graphics for print:

Bleed = graphic dimensions plus

40mm on each side

PDF in minimum 100 dpi in 1:1

Colors in CMYK

Fonts attached or outlined

27



system-standex.dk

28

For more information on

EASYLOCK-1

jarge

EASYLOCK-2

Modular Fabric Print

SHSTEN!
STANDEX"

Cobra Expo
Modular exhibition system

SUSTEMY
STANDEX

Hanging canopy signs
For the display of fabric graphics

Baldakiner til stofprint
Nedhzengt fra loft

Hangenden-Baldachinen
fiir Textilbannern
Von der Decke herabhingend

E
SIANDEN'

EASYLOCK-3

Modular Magnetic Panels

EASYLOCK-4

Udstlingsystemet opbygaes uden brug af varkiaj

Profile system for fabric graphics

2] (37

GHSTIEN
SFFrames  SF Exhibitor STANDEX"

STANDEX AKUSTIKRAMMER

— til stofprint med mulighed for nem udskiftning af motiv

SHSTEN!
STANDEX"

Light boxes for graphic panels

= i canae ot .

De helt rigtige rammer til enhver virksomhed
- smarte, praktiske og fleksible pa samme tid

B STORPRINT

 STOFPRINT
MED LEDLYS

W STOFPRINT MED
AKUSTIKPLADE




System Standex A/S

Herluf Trolles Vej 140 - DK - 5220 Odense SO
Phone: +45 66 15 66 15 - Fax: +45 66 15 55 48
info@system-standex.dk - system-standex.dk

SIANDEX




